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1) Autistic children mainly have difficultiesin ____./ Taddr (Gﬁ'ﬁ'%ﬂi) =i | |
HiSE 1t B

1. Vision / ?@

2. Intelligence / Q@
3. Social interaction / AT JUH

4. Body movement / IR iRt

Correct Answer :-

e Social interaction / JraTTh JUh

2) Applied Behavior Analysis is considered to be a more effective remedial method for:/

ST AaeR fazayu A= & fore ue siftre guTdt SraRTes faftr ar=r s @:
1. Dyslexia/ f&aifaRyan

2. GDD / Siiglet

3. ADHD / TSIT=Sl

4. ASD/ TTHS!

Correct Answer :-

. ASD/ UUHE!

3) Which of the following is not true about the team teaching method? / A fRrgvugfa s an &

Frafafea & @ o9 s T8 82



1. Difficulties are faced in maintaining harmony among team members / T & Jedl & o9 qre CRIlY REGE
T HfET3aN BT YT HAT TSal g

2. It is cheaper than other methods of teaching in terms of finances / g fog & deyf H fRreor & 3 fafat ot
I & T ]

3. Teachers get better opportunities for optimal utilization of human resources / HIHd TG1eE & garad ST
& for Rrere! & TgaR sawR firad

4, It is a highly flexible method of teaching in terms of scheduling/ﬂ?W—ﬁW%WﬁﬁﬁT&m
B TH fAd Tl R g |

Correct Answer :-

It is cheaper than other methods of teaching in terms of finances / dg fog & dey | fRreur & 3 fafda
&I ga1 H I B |

4) Which of the following elements is there in problem-solving skills?/ fufsf@a s s an
HET- AR IR & 9w 8?2

1. only the steps to reach the goal / $ad A dH ITIEV?J%[ & TROT
2. only the goal / Had d&d

3. only the problem / Had THXT
4. all of the above/ IURTGd IHt

Correct Answer :-

« all of the above/ IURTad gHT

5) A child thinks that because he wants to have pizza for dinner, his parents must want it too. What

type of thinking is this? / T S<aT1 Hiaar @ % 9f% a8 7 ¥ @M & foe s agar @, 9 9%
Hrar-fuar 91 +ft a8} arfeu | ug f5g ueR 31 I 82

1. Meta-cognitive thinking / &I (Hel-HHTED) fid
2. Egocentric thinking / Wahfad (GMaft®) fRidq

3. Abstract thinking / 31'11?? fefa

4. Psychotic thinking / ORI (TRPIcH) feid=

Correct Answer :-

« Egocentric thinking / Wdiad (TR ®) i

6) Learners learn best when / ﬁr&mﬁm 3BT qe dJrRaa % old



1. they listen to the teacher and obey all classroom rules. / CARIEICI I ﬂ:ﬁ 8 3R Parm o gyt i &1
UTeH Hd g |

2. they understand the lesson and write good notes. / CACLRED FITEI?[ % 3R 3= :h?.’ﬂ forad %I

3. they understand the relevance and are motivated to achieve the learning goal. / J IRl &f FITEI?[ % 3R
SIfATH & T I U v & o IR B B

4. they follow all rules and are quiet in class. / 3 G4 A} &7 UTe Hd & 3R Ham H 2id | 8

Correct Answer :-

« they understand the relevance and are motivated to achieve the learning goal. / J U 1 THed g 3R
ST & & P UTd R & forg IR g1 6

7) The seat of Intelligence in human brain is . | 9THa Af&Tss § Tg’@ BT IS gl
1. Brainstem / STCH
2. Cerebellum / 3THRTSH (TREeTH)

3. Cerebrum / THRTSH (@m

4. Spinal cord / HSGUS (W13 HI8)

Correct Answer :-

. Cerebrum / YHIRTSH (@m

8) Which of the following is the best way to increase correct responses and appropriate
behavior? /

Wl ufafearsit ok Ifra suagR @t 9 & forg Frafafed 9 & o-a1 gad sreo1 afie1 872
1. Punishment / €8

2. Praise / U=

3. Ignorance / SR

4. Strictness / Il

Correct Answer :-

e Praise / U0

9) Which method is used commonly for the diagnosis and treatment of behavioral problems of
exceptional children? /



STYRU 9] &t AdgR Jdadl gawrefi & e i Iu=aR & forg smadik uR fog fafer
ST AN fhaT ST 82

1. Survey method / Faefor fafdr
2. Case study method / HYg el fafy

3. Observation method / fteror fafdr
4. Experimental method / TANTI fafd

Correct Answer :-

« Case study method / &Y el fafd

10) Which approach believes in teaching reading based on sounds? / Gl & SATYR W US4-

UTeH H P AT e RhI0r Ay vt 32
1. Analytical / fa=eivoIT&e

2. Syllabic/ eI

3. Global / Tdierd

4. Phonic / ®IfA®

Correct Answer :-

« Phonic / BIfA®

11) According to Thompson, children can identify their own gender by the age of/ YT & SR,

T 3(UA WY F ol B TgaH s ST A R TP &
1. Five years/tﬁaaﬁ
2. Two years/apfa'ﬁf

3. Four years / dIR ¥
4. Three years / GIBEL

Correct Answer :-

e Three years / GIEK:L

12) What is the term used to describe a person’s tendency to remember positive rather than negative
experiences?/



THRIHD SFFHAT & T HHRIHD TG IE@ & forg foredt safda 1 ughxi &1 qui= 34 7 fovd ug &1
SUHT far wrar 82

1. Rehearsal effect / anarg guTd
2. Retroactive effect / tlﬁTDEITd)[ UHId
3. Lightbulb effect / dlgcded UHIT

4. Pollyanna effect / QIeiTaT Tt

Correct Answer :-
» Pollyanna effect / ISR

13) What type of memory is sometimes referred to as nondeclarative memory? /

fra TR & Wfa # Fi-FuUR sratvurere Wfa & U A W1 o 82
1. Autobiographical memory / STEART (SHCaRRnhad) F{ﬁ‘f

2. Factual memory / d[HD F:ﬂ%l

3. Short term memory/aﬂ-?ﬂ?ﬁ:[ F:ﬂ%f

4. Procedural memory / Ufhardd Fﬂﬁf

Correct Answer :-

e Procedural memory / Ui ards “\Hﬁ

14) An assessment that is carried out throughout the course is called ./

q€ AT ol X UoUsh & SR fpaTorar e, Pearan gl

1. Formative assessment / IdAIHSD H[h
2. Summative assessment / WW
3. Diagnostic assessment / WW

4. Initial assessment / YRIH® HTHdT

Correct Answer :-

o Formative assessment / IIATHD HTh I

15) Which of the following is not a form of bullying? / Frafafaa # S #1991 seu=ht &1 T &Y g1
82

1. Teasing other children / 3= CEIEDl 33 Al



2. Pushing other children / 310 Sl ol Ydehl ol
3. Mutual exchange of lunches / &9 &1 URTRSB Sadl-aga

4. Insulting other children / g@li’ Sl DT YA HRAT

Correct Answer :-
 Mutual exchange of lunches / @ D URTRS SHaell-agal

16) Which of the following clinical procedures are based in part on classical conditioning?/

fFafafEa & @ w19 W@ A= uftean safiea S w smerid @2
1. Token economy / GG _&"aﬂ:ﬂlﬁf
2. Two chair techniques / ¢ PR dDHID!

3. Transference/ RITATIRT
4. Systematic desensitization / TG ﬁﬁﬂm

Correct Answer :-

 Systematic desensitization / afeyd ﬁﬁﬂw

17) Which chromosome is responsible for determining that the child is born male? /

B 91 UREA g Fufiva & & forg Iaverdt gar @ fob a=n R ergen &2
1.'Y chromosome /'Y TURE
2. C chromosome / C TJ0RIA
3. L chromosome / L T[URIA

4. X chromosome / X T[UIJA

Correct Answer :-
* Y chromosome /Y T[UIRTA

18) If a child has no problems with any schoolwork other than reading and writing, what could he be

diagnosedwith?/mmﬁﬁqﬁmm%mmmwwaﬁﬁmqﬁ
3, a1 39 fru Fefia foran s w82

1. Learning disorder / 3f&TH fdepR
2. Communication disorder / GaR fdBR

3. Mental retardation / ATARIG Hedl



4. Intellectual disability / STfad A&

Correct Answer :-

« Learning disorder / 3O fd®R

19) A child searches for an object where they previously found it even after they know it moved to
another location. This approach is seen because of limitations relating to ./ Th T Uh Q’\‘ﬁ a¥yq
B WIS A1 2, 98T 3 Ued 39 g RIH W A WH F a1¢ oft ura &1 98 =i Q Tefra
Hrrsif & SR G@T ST B |

1. Attachment/ 3FJCTU® (3ICTHT)

2. Egocentrism/ e ( m@m)

3. Conservation/ GX&UT

4. Object permanence / 9] T

Correct Answer :-

» Object permanence / d¥] T

20) Who developed a Psychosexual theory of human development from infancy onward? / AT

A4 3 o1 & T Rigid e faefa fasar
1. Erik Erikson / Qﬁ?ﬁ W

2. Piaget/fﬁ’tﬂﬁ

3. Sigmund Freud / R e

4., Vygotsky / CIEUIRIED

Correct Answer :-

 Sigmund Freud / R s

21) The concept of intelligence is more related to: | SfS® SrayrRUm m 3fYre Tefira 3:
1. Concrete thinking / ‘Cﬁﬂﬂ"lﬂfﬁﬂ?

2. Intuitive thinking / Gg fid=

3. Rational thinking / LEZSUGACGR]

4. Emotional thinking / HTd-TH® feid

Correct Answer :-



« Rational thinking / AHITd fid=

22) Rorchach ink blot test consists of / AT W’Iﬁ AR qﬁ&'l'UT ﬁl’H Jd g1 'Eﬁ?IT %:
1. 10 black cards and 5 coloured cards10 / BT U<l SﬁT 5T T

2. 10 black and 10 white cards / 10 BT 3R 10 Ihe Ul

3. 5 black and white cards and 5 coloured cards/ 5 BTl 3N ﬂ'a’)_d' U SR 5 T o

4. 10 multicoloured cards 10/ EET"F[ T

Correct Answer :-

« 5 black and white cards and 5 coloured cards/ 5 BT 3R ﬂ'a’)_d' U SR 5 T o

23) When failures are punished during childhood, it leads to WASC) SpBadre & ﬁl’E CELEE:]
ERFfSafraraang, Miag_ &l iR A ST B

1. Negative reinforcement / ThRIHD li"lqrﬂ"l

2. Encouragement / Eh_m:ﬂ%:f

3. Persistence / 80

4. Learned helplessness / 3feATH fagrar

Correct Answer :-

« Learned helplessness / 3ferT faa=rar

24) Maturity affects learning because it impacts -/ ufeuerdr SifeRTH & gyTfad St % Fife ag A=
W YT STed o:

1. Motor skills/ WP aﬁ?zm

2. Readiness/ ddddl

3. Cognitive capabilities/ IITTHD REGIE

4. Both motor and cognitive skills/ S HIeR 3R ITHTHD CARI

Correct Answer :-

o Both motor and cognitive skills/ G HieR iR TIHETHSD AR

25) According to the Social Learning Theory, there are 4 necessary conditions for effective modelling.

Attention, retention and reproduction are 3 of these conditions.



Which is the 4™ condition? /

TS R Rigid & AR, TUTH ATsiiT & i 4 smazas =d g1
M, TURV AR Y A3 A 5 |

o =d w2

1. Situation / fRfd

2. Attraction / 3THYUT

3. Imagination / P ¢U-l

4. Motivation / OO

Correct Answer :-

« Motivation / DRI

26) Creating positive classroom culture falls under the domain of : /WEF&ITWI%TW
forafor fo &3 & siaefa smaT 8:

1. Social need / ITHTNI® HTTIEH ]

2. Affective need / HIATAHD TR D d]
3. Psychomotor need mﬂﬁwﬁ HARGhdl
4. Cognitive need /IRITH® TAGDHAT

Correct Answer :-

« Affective need / HIATHD HTARIDH dl

27) Which of the following can be described as a positive reasoning style for failure in achieving success? /

Frafafad 7 S w1 gwaar U 31 # B adl & [T U6 YPRIAS db WLIsd & =0 | givfd
B Jbdl 82

1. Environment problem /ammﬂuﬂﬂw

o

2. Medical and Psychological Reasons/ﬁlﬁ??%ﬂ 3R H"I\Iaﬂll"lcb DRI

3. Difficulty in wriﬁng/@“@qﬁw

4. Lack of Motivation and Interest to put efforts / UHId STaH %%I'QW 3R B BT UG

Correct Answer :-

 Lack of Motivation and Interest to put efforts / UHId SINE %ﬁmﬂw 3R BT BT UG



28) Some parents do not explain the rules but force the child to adhere to them at any cost. This type of
parenting is known as:/

$o gral-fuar ey @1 saren 78 #3d € afe a2 3t fdt o Fiaa W 37T ureH w2 & forg
AOIgR HXd 81 39 PR B W & e wu & S S 8:

1. Permissive Parenting / W e

2. Uninvolved Parenting / Srgafera e

3. Authoritative Parenting / 3MfApTRRE WfeT
4. Authoritarian Parenting/ Frardl U

Correct Answer :-

 Authoritarian Parenting/ rard! Ui

29) Studies in human development take into consideration the period from: / HHd faera A
Y 3 3MafY P = A 1@ 8

1. Conception to adolescence / YT fhemRIaR
2. Birth to adolescence / 57 I forIRTaRAT
3. Birth to death / S J HRUT

4. Conception to death / Ty 3 g

Correct Answer :-

» Conception to death / iy 9§ g

30) CANCELLED

What is the full form of MBIT?/ THAI3TE ! &1 quf =q 71 32
1. Myers-Briggs test instructions / - fore oten A=

2. Myers-Briggs type of indicator / TRRI- o TR dhdd

3. Myers-Bricks type of indicator / A9 TSR ddhdd

4. Myers-Bricks test instructions / A forerd TRAed e

Correct Answer :-
« Myers-Briggs type of indicator / TRRI- 3 TR dhdd

Topic:- General English(L1GE)



1) Fillin the blank with the correct option in the given sentence:

A person’s way of expressing himself orally is called his --tion.
1. dic --

2. form --

3. ac--

4, dec --

Correct Answer :-
o dic--
2) Fill in the blank with the correct option in the given sentence:

Major firms are controvers-- sending more and more work to countries where labour is cheap.

1. -y

2. —-ially
3. -ial
4. --ies

Correct Answer :-

3) Which of the following options best combines the given sentences?

Would you rather live in a tropical climate? Would you rather live in a temperate climate?
1. Which you prefer, tropical climate or else a temperate climate?

2. Would you rather live in a tropical climate or in a temperate climate?

3. Rather you like tropical climate or would you rather live in a temperate climate?

4. Whether you like tropical climate or a temperate climate?

Correct Answer :-

* Would you rather live in a tropical climate or in a temperate climate?

4) Choose appropriate articles for the given sentence:



_____prospect is something that might happenin ____ future.
1. The ... the

2. A ... no article required

3. A..the

4. No article required ... no article required

Correct Answer :-

e A..the

5) Choose appropriate article for the given sentence:

He was abandoned by his parents and he became like _____ orphan at a very early age.
1. an

2. the

3.a

4. no article

Correct Answer :-

6) Choose the appropriate option that rewrites the given sentence in its passive voice.
Several external influences have shaped Indian culture.

1. Indian culture is been shaped by several external influence.

2. Indian culture was shaped by several external influences.

3. The Indian culture has shaped several external influences.

4. Indian culture has been shaped by several external influences.

Correct Answer :-
 Indian culture has been shaped by several external influences.

7) Choose the appropriate synonym for the highlighted word in the given sentence.
He was given a lot of praise for his good work.

1. reward

2. disregard



3. compliment

4. flattery

Correct Answer :-

e compliment

8) Choose the appropriate tense to fill in the blanks in the given sentence:

The Mumbai Express usually on time, but today it late by an hour.
1. came... comes

2. comes... came

3. come... is coming

4. is coming...comes

Correct Answer :-

® comes... cCame

9) Choose the appropriate tense to fill in the blank in the given sentence:

I think it rain, I can see dark clouds now.

1.1sto

2. will be going to
3. was going to

4. 1s going to
Correct Answer :-
« is going to

10) Choose the appropriate antonym for the highlighted word in the given sentence.

Studying science subjects cause a lot of frustration among students.
1. pleasure

2. pinpricks



3. sorrows

4, hassles

Correct Answer :-

o pleasure

11) Choose the appropriate conjunction for the given sentence.

the alarm goes off, I hit the snooze button.

1. Since
2. Once
3. As much as

4. As soon as

Correct Answer :-
e As soon as

12) Choose the appropriate determiner for the given sentence:

In spite of _____ progress in his work, he did not lose hope.
1. many

2. much

3. any

4, little

Correct Answer :-

o little

13) Choose the appropriate prepositions for the given sentence:
____Reston, Virginia, there is a modern school built a mountain.
1. On ... across

2. In ... inside

3. At...in



4. From ... on

Correct Answer :-
e In..inside

14) Choose the appropriate indirect speech for the given sentence .

“Politics is the game of the wealthy, it will not change tomorrow or even later” said Rajaji.

1. Rajaji called politics as the game of the wealthy and noted it should not change tomorrow or even later.

2. Rajaji told politics is the game of the wealthy and it will not changed tomorrow or even later.

3. Rajaji said that politics was the game of the wealthy and that it would not change the next day or even later.

4. Rajaji said that politics will be the same of the wealthy and it will not change the next day or even later.

Correct Answer :-
* Rajaji said that politics was the game of the wealthy and that it would not change the next day or even later.

15) Choose an appropriate modal for the given sentence:

This is a hospital. You not smoke here.
1. could
2. need
3. must

4. may

Correct Answer :-

16) Choose the option that best explains the highlighted expression:
The plan has been given the thumbs up.

1.anod

2. has been rewarded

3. has been discussed

4. has been disapproved



Correct Answer :-

17) Choose the most suitable pronoun for the given sentence:

Did you paint this? I can’t believe that this is
1. his

2. yours

3. ours

4, hers

Correct Answer :-

e yours

18) Read the sentence carefully and choose the option that has an error in it:

A century has being scored by Sachin.
1. No error

2. A century

3. has being

4. scored by Sachin.

Correct Answer :-

¢ has being

19) Read the passage and answer the question that follows:

Opera refers to a dramatic art form, originating in Italy, in which the emotional content is conveyed to the
audience as much through music, both vocal and instrumental, as it is through the lyrics. By contrast, in
musical theater an actor's dramatic performance is primary, and the music plays a lesser role. The drama
in opera is presented using the primary elements of theater such as scenery, costumes, and acting.
However, the words of the opera, or libretto, are sung rather than spoken. The singers are accompanied by
a musical ensemble ranging from a small instrumental ensemble to a full symphonic orchestra. The Italian
word opera means "work", both in the sense of the labour done and the result produced.

What are the words of the opera known as?

1. Musical



2. Vocal
3. Lyrics

4, Libretto

Correct Answer :-

o Libretto

20) Read the passage and answer the question that follows:

Opera refers to a dramatic art form, originating in Italy, in which the emotional content is conveyed to the
audience as much through music, both vocal and instrumental, as it is through the lyrics. By contrast, in
musical theater an actor's dramatic performance is primary, and the music plays a lesser role. The drama
in opera is presented using the primary elements of theater such as scenery, costumes, and acting.
However, the words of the opera, or libretto, are sung rather than spoken. The singers are accompanied by
a musical ensemble ranging from a small instrumental ensemble to a full symphonic orchestra. The Italian
word opera means "work", both in the sense of the labour done and the result produced.

Where did Opera originate?
1. Italy

2. America

3. England

4, Africa

Correct Answer :-

21) Read the passage and answer the question that follows:

Opera refers to a dramatic art form, originating in Italy, in which the emotional content is conveyed to the
audience as much through music, both vocal and instrumental, as it is through the lyrics. By contrast, in
musical theater an actor's dramatic performance is primary, and the music plays a lesser role. The drama
in opera is presented using the primary elements of theater such as scenery, costumes, and acting.
However, the words of the opera, or libretto, are sung rather than spoken. The singers are accompanied by
a musical ensemble ranging from a small instrumental ensemble to a full symphonic orchestra. The Italian
word opera means "work", both in the sense of the labour done and the result produced.

How is drama presented in Opera?
1. Through music and dance

2. Through the orchestra present

3. Through costumes

4. Through primary elements of theater such as scenery, costumes, and acting



Correct Answer :-

« Through primary elements of theater such as scenery, costumes, and acting

22) Read the passage and answer the question that follows:

The culture of nuclear families is in fashion. Parents are often heard complaining about the difficulties in
bringing up children these days. Too much of freedom in demand, too much independence; over night
parties; excessive extravagance, splurging pocket money; no time for studies and family all this is a
common cry of such families. Aren’t parents, themselves, responsible for this pitiful state? The basic need
of a growing youth is the family, love, attention and bonding along with moral values. One should not
forget that ‘charity begins at home’. Independence and individuality both need to be respected, in order to
maintain the sanctity of family.

According to the author, who is responsible for the trouble that emerges in families?
1. Children

2. Society

3. The parents

4, Relatives

Correct Answer :-

e The parents

23) Read the passage and answer the question that follows:

The culture of nuclear families is in fashion. Parents are often heard complaining about the difficulties in
bringing up children these days. Too much of freedom in demand, too much independence; over night
parties; excessive extravagance, splurging pocket money; no time for studies and family all this is a
common cry of such families. Aren’t parents, themselves, responsible for this pitiful state? The basic need
of a growing youth is the family, love, attention and bonding along with moral values. One should not
forget that ‘charity begins at home’. Independence and individuality both need to be respected, in order to
maintain the sanctity of family.

In the passage, what are the basic needs for a growing youth?
1. Moral values

2. Respect and individuality

3. Family, love, attention, bonding and also moral values

4. Family, love, attention

Correct Answer :-



» Family, love, attention, bonding and also moral values

24) Read the passage and answer the question that follows:

The culture of nuclear families is in fashion. Parents are often heard complaining about the difficulties in
bringing up children these days. Too much of freedom in demand, too much independence; over night
parties; excessive extravagance, splurging pocket money; no time for studies and family all this is a
common cry of such families. Aren’t parents, themselves, responsible for this pitiful state? The basic need
of a growing youth is the family, love, attention and bonding along with moral values. One should not
forget that ‘charity begins at home’. Independence and individuality both need to be respected, in order to
maintain the sanctity of family.

What should be respected in order to maintain the sanctity of the family?
1. Splurging pocket money

2. Overnight parties

3. Extravagance.

4. Independence and individuality

Correct Answer :-

» Independence and individuality

25) Read the passage and answer the question that follows:

The culture of nuclear families is in fashion. Parents are often heard complaining about the difficulties in
bringing up children these days. Too much of freedom in demand, too much independence; over night
parties; excessive extravagance, splurging pocket money; no time for studies and family all this is a
common cry of such families. Aren’t parents, themselves, responsible for this pitiful state? The basic need
of a growing youth is the family, love, attention and bonding along with moral values. One should not
forget that ‘charity begins at home’. Independence and individuality both need to be respected, in order to
maintain the sanctity of family.

What begins at home?
1. Learning moral values
2. Respect

3. Happiness

4. Charity

Correct Answer :-

» Charity



26) Rewrite the following changing the active sentence to passive.

Ria bought a pair of earrings.

1. A pair of earrings had been bought by Ria.

2. A pair of earrings had been bought for Ria by him.
3. A pair of earrings was bought for Ria.

4. A pair of earrings was bought by Ria.

Correct Answer :-
» A pair of earrings was bought by Ria.

27) Choose the right tag:

I often come home late from office,  ?
1. dol

2. don't |

3. didn't |

4.is It

Correct Answer :-
e don’tl

28) Opera refers to a dramatic art form, originating in Italy, in which the emotional content is conveyed to
the audience as much through music, both vocal and instrumental, as it is through the lyrics. By contrast,
in musical theater an actor's dramatic performance is primary, and the music plays a lesser role. The
drama in opera is presented using the primary elements of theater such as scenery, costumes, and acting.
However, the words of the opera, or libretto, are sung rather than spoken. The singers are accompanied by
a musical ensemble ranging from a small instrumental ensemble to a full symphonic orchestra. The Italian
word opera means "work", both in the sense of the labour done and the result produced.

What is the meaning of the word “opera”?
1. Energy

2. Scenery

3. Work

4. Lyrics



Correct Answer :-

» Work

29) Choose the option that substitutes the given phrase appropriately.
In exactly the same words as were used in the original

1. Facsimile

2. Duplicate

3. Photocopy

4, Verbatim

Correct Answer :-
e Verbatim

30) Choose the right tag:

She grinned at you ?
1. isn't she

2. wasn't she

3. didn't she

4, did she

Correct Answer :-

e didn't she

Topic:- General Urdu(L2GU)
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Topic:- Mathematics (MAT)

1) 3c(a+ b)isa/an ./
3c(a+b)TH ____ Rl

1. algebraic equation / STSRTIOTC et oT
2. monomial polynomial /WW
3. binomial polynomial /Ecraﬂuagqa

4. trinomial polynomial /ﬁua‘iuasu'c:

Correct Answer :-
« binomial polynomial / fgudia 9gug

2) If the perpendicular distance of a point P from the x-axis is 8 units

and the foot of the perpendicular lies on the negative direction of x-axis, then the point P has: /
gfe x-34el T TP fig P $t daad gl 8 IF15 @

3R @9 BT UG x-3& Pt BUTAS MR fRYa g, Afdgp A

1. Ordinate = 8 / @I = 8

2. Abscissa= 8 or -8 / Yol = 8 3{YdT -8

3. Abscissa = 8 / Yol =8

4. Abscissa = -8 / ol = -8

Correct Answer :-
« Ordinate = 8 /PIfic =38

3) If the CSA of a right circular cone is 12320 sq cm and its base radius is 56 cm, then its height is:
/

ofe U |9 aYd [P BT a5 YEIT &A% 12320 Tif At qur 39@! nur fAsur 56 A B, 9 swt
TS ®:
1. 42 cm /42 9t

2. 24 cm /24 99



3. 40cm / 40 TH

4,21 cm /21 99

Correct Answer :-

e 42 cm /42 9

4) What is predecessor of natural number 1? /
WIpd =T 1 B Tdad] ST T 8?2
1.2

2.1

3. no predecessor / EAE] qﬁaﬁ’fw T8

4. 0

Correct Answer :-

« 1o predecessor / ®13 Ydad! e Tl §

5) Which one of the following is not an objective of scholastic assessment? /
fFrafafaa A ¥ $9-a1 fagHl & qeaied #1 Us 3534 T8l 82

1. Knowledge / 3T

2. Analysis / ICESLLI

3. Comprehension / JHY

4. Attitude / FFIGRT

Correct Answer :-

« Attitude / TIGRI

6) A regular pentagon has perimeter of 45 cm. What is the length of one side? /
TS JH TIYS &1 URUTT 45 A 31 39 TH Yol B dars fHa-l 82

1. 9 cm/9 gl

2. 9.5 cm/9.5 94t

3. 7.5 cm/7.5 94t

4. 15cm/ 1599



Correct Answer :-

e 9cm/9TH
7 p*+qi-z°
Ifp=-2 q=3, and z=2_then find the value of P - !
- +Pq—pqz
. 240925 .
afd p=-2,q=3,7d z=2 §, & §———— & A7 7F B
~+pq-pgz
9
1 5
31
2. 2
1
3 5
4. 19
Correct Answer :-
1
. 5
8) i 1 -
x2—5x4+6 x—7x+12 x2—6x+8
1. (x-3)
2. (x-2)
3.0
4. (x-4)

Correct Answer :-



The diagonals of a rectangle PQES intersect at the point O_If
£P0OQ = 130° then £0RS =7

3T PQRS & &0l tehegay & fdg O X ufd=afaa #a
£1 afg ~POQ = 130°, 99 ~ORS =?

S =R
1 I
]
P Q
300
1.
P50
2.
130°
3.
500
4,

10) The area of sector of a circle of radius 10 cm and of angle 60° is Al

10 I3 H=r g2 60° HIUT a7 Uk Iod & Hod@s & a6 el

157 157
%sqcmffiaﬁm
157 157

Ei sqcmfia?rrm

167 167
. sqcmf—a?ﬁ'i‘zlﬁ
3.

4. 157 sqcm/ 157 aif et

Correct Answer :-
157 157
gi sqcm [/ gia?‘r THT



11)
Given two right angled triangles PQF. and DEF _such that 2 (=30,

£D=30 and QP=DE write the correspondence if tniangles are congruent. /

ar AT e PQR 3R DEFSW wahR few a1 §f% £Q=230. .D =30 3ik QP=DE
ol afe Perar wale#d §. @t derdar A &1

, ARQPAFED

, AQPRADFE

;. APQRADEF

, APQREAEDF

Correct Answer :-

APQE=AEDF
12)
APQR. is an isosceles triangle with PQ=PE_ Altitudes EF and QG are drawn to the sides P(Q and
PR from wvertices R and () If one altitude RF is 3 cm and the base QF is 5cm then GER= vy

APQR US: THefaarg fHeyet ¢, fora# PQ=PR Y| efifeial RF 3R QG &I off Rwd Q&
=T PQ 3R PR A% dien =rar §1 afg v offeid RF3 &+ § 3 3mar QRS &t
g.ar GR=__ |

1.4 cm/4 94l

2.3 cm/3 9wt

3.5 cm/ 5 qH

4.6 cm/ 6 JHt

Correct Answer :-

e 4cm/4TH



AD is a median of AABC and M is the midpoint of AD_Ifthe area of ABMD is 2.5 cm?, then the
area of AABCis . [

AABC &1 T AIMETST AD§ dur AD&T #edfdg Mel afg ABMD &7 &ai=he 2.5
A 8.9 AABC &7 &5%el 2l

1. 20 cm? / 20 2
2. 10 cm? / 10 T2
3.5 cm? /5 QP2

4,25 cm? /25 QAP

Correct Answer :-

« 10 cm? /10 H2

14)

. .1 . . . - .
Anu’s age is E‘d- of her mother’s age If Anu’s age is 12 then mother’s ageis [/

3] T Y 3T AT I 37 & 1/3 g1 I 3] T 3y 12 a9 g, @ A =71 37 &

1. 36
2.24
3.35

4. 30

Correct Answer :-



The length of two trains T1 and T2 are 620 m and 480 m respectivelv. The length of the freight

train T3 is twice the sum of T1 & T2. Find the time required bv T3 to cover a post on the
distance

platform if it has a speed of 20 m/s. [ime =
speed

ared T1 ugd T2 &1 o5 FH 620 Hiex 3R 480 Hex g1 Arcamar T3 &1 a9
& T1 Ud T2 & 17 &1 SEe ¢ Il Saeht arfd 20 #HexAes g, df T3 garT &
TIEHIH W Ud 9Re FT 9K ad & (U 31aedd 8T Ad 17

1. 3 minute 10 seconds / 3 fiFe 10 ¥bs
2. 1 minute 50 seconds / 1 fiFe 50 bg
3. 2 minutes 10 seconds / 2 fiFe 10 9Fs

4. 2 minutes 40 seconds / 2 fiFe 40 Ybs

Correct Answer :-

« 1 minute 50 seconds / 1 ffFe 50 Yb s

16) J (e :
If 3x+:+2=3x: a =x+3}+1,thenfindthevaluenf'xandy.

_q_% 3.::+y+2:3x—y—i:x+".iy+i _%.,(__n_ I.UE'_ }_a; AT AT ﬁl

3 2

-13
X=-2, v=—
: 5
1.
7
X=—-,v=-)
)
2.
1 3
=T,
3.
4.x=2,y=3

Correct Answer :-

17)
If & and B are the zeroes of the polynomial x% — 5x + k,wherea— f = 1,thenk=__. /

af¢ aTdp 9gUE x® ~5x +k & YH &Gl a—f= 1&, dAk=__



2.2
3.3

4.6

Correct Answer :-

18)  Four figures are plotted on a graph sheet as mentioned in the following table.

Covered area Figure 1 | Figure2? | Figure3 Figure 4
Fully-filled 5 8 6 4
squares

Half-filled T _ 2 3
squares

More than half 4 4 _ 8

filled squares

Less than half a 7 _ _

filled square

Find the figure with larger area. /

gt arferer & aftig omw offe X 9K 3763 RBv 9w &)

&had fhar I T | &SIl | Hdhs12 | HTEHs13 3T 4
HE]

oof &7 & | 5 8 6 4

aat

3T X aar 7 _ 2 5
ey F faw | 4 4 _ 8

sTY @t

WY F FH |9 7 _ -

aat

TdY g5 &8 &I st Ad S|

1. Figure 4 / 3{ih Sl 4
2. Figure 2 / 311 2
3. Figure 1/ 33T 1

4. Figure 3 / 311 3

Correct Answer :-



« Figure 4/ 3fi®sl4

2 _ 2 3 _ 2
19) Find the value of 'K, if ¥~ — 2¥ T 1 jsafactorof 2% TX° —14x"+5k+6 ,

4 3 _ 2 2 _ .
-1
1.
2.2
3.1

4.3

Correct Answer :-

20) Find the missing number in the following pattern. /

fFrafafad ted & qu e gra s31

3.7

4. 6

Correct Answer :-

21) Find the difference between the predecessor of 98701 and the successor of 9871. /
98701 & Ydadi 3R 9871 & WRdl & die 3R FT 719 B

1. 88832

2.2

3. 95000

4. 88828

Correct Answer :-

o 88828



22) Find the GCD of 10, 20, and 30. /

10, 20 3f¥ 30 HT HgWH HAHTIP (GCD) T B |
1. 10

2. 60

3.15

4. 30

Correct Answer :-
e 10

23) A scaled down teaching encounter is known as ./

IaIuiiE (s s Rgurdad _ FEFuF AFTA@T B
1. Macro teaching / g8 TR1&0T (Hep! i)

2. Micro teaching / G&H fRI&0 (Frgeh! &fzim)

3. Mastery teaching / Jait0T fRI&0T (AR i)

4. Model teaching / ATSe & (wisd i)

Correct Answer :-

« Micro teaching / G&H fRI&01 GIEEIKEIED)

24) Postulates are assumptions specific to ./
Wiy, falre @ __ &1 s@uRume &1

1. trigonometry / IEEAIEIR]

2. algebra / CISUIYG

3. geometry /@T&Iﬁf

4. arithmetic / 3RO

Correct Answer :-

» geometry / Sarfafa

25) ‘Algorithms De numero Indorum’ was a work on Arabic Arithmetic by ./



TAENRGH St AT SSRA’ & GRT 3R SAHIOG W fovar a1 st 4Tl
1. Al Kharkli / 3/cT @Rel

2. Abil-Wefer / 3fae-dth

3. Omar Khayyam / SHR &&H

4. Al-Khwarizmi / 3Te1-SATRH!

Correct Answer :-

« Al-Khwarizmi / 3@-SATRGH

26) is the ability for a child of two years who is able to distinguish between more and
less things when he/she is fit to consume food. /

3 T & T P &HAT § S HISH BT SUHNT B & forw fhe g )
3P 3R HH el & 9T 3R $I4 A J&H 2|

1. Understanding of notations /Waﬁm

2. Recognition of numbers /QT@ITG%W

3. Recognition of notations / Hard @1 Ugd

4. Innate number sense /WH@T@W

Correct Answer :-

¢ |nnate number sense /W?’@T@W

27) Rhombus is formed by joining the midpoints of the adjacent sidesofa__ ./
_ & e yeneit & neafdgei o e @ awagys s 21

1. Rectangle / 3{1dd

2. Parallelogram / AR ISt

3. Rhombus / FHATY

4, Kite / gail

Correct Answer :-

» Rectangle / 3dd

28) The mean weight of 7 boys is 45 kg. The weights of 6 of them are

53 kg, 45 kg, 40 kg, 37 kg, 42 kg and 50 kg. Find the weight of the 7th boy. /



7 ASH| 1 AT Io 45 ST 21 398 A 6 &1 99 53 fhu1, 45 fHw, 40 fowwm, 37 fopam, 42 fum 9T 50
fpun g1 79 WS &1 9o FTd B

1. 42 kg /42 fom
2. 48 kg / 48 fobuT
3. 45 kg / 45 foun

4. 50 kg / 50 fobu

Correct Answer :-

o 48 kg /48 T

29) (2x —8) + (8 —2x): /

The degree of the polynomial
W(Z;r —-8)+(8—-2x) 5 T &

1.1

30) The action verb for giving examples of different types of sets is ./
fafira yopR & Ty=al & IaTevvl o1 & e forarers fopan gl
1. classifying / FiffeRur

2. comparing / eIl
3. differentiating / faveq

4. listing / WUT

Correct Answer :-

o classifying /aﬂ’fww

31) The graph of the linear equation 2x +5y =10

—
IFd BT 2x + Sy = 10 FT IE TH 3@ @ ot g R x-31&f | freran g1

is a line which meets the x-axis at the point



1. (0,2)
2.(1,2)
3. (5,0)

4. (2,5)

Correct Answer :-

32)
Which property is used to equate: /

THiigpd B3 & forg fa qurent 1 v fasan s &:

i.19 x 13 = 190 + 57

ii. (-34-53)+23=-34+-30

1. 1 - Commutative property, ii - Associative property /1 - FHANTT 0T, ii - BREIR o7
2. i - Distributive property, ii - Closure property /i - IEERUIGED 0T, 11 - FHIYA 07

3. i- Commutative property, ii - Closure property /1 - HHFTT 0T, ii - FHGT 0T

4. i - Distributive property, ii - Associative property /i - IEGRUIGAED U, i - S REIR qur
Correct Answer :-

 i- Distributive property, ii - Associative property /i - [EGRUIGAED 0T, i - R REIN T

33) Choose the solution for the equation: x+9 =12./
HHISRUL: x+9 = 12 & & BT 9G4 DL |

1.3

2.4

3.2

4.6

Correct Answer :-

34) Simon has a rectangular pond of length 210 m and width 165 m. He wants to fence it with 2
rounds of rope at the rate of Rs. 10 per metre. Find the cost of fencing. /



ATSHA & U 210 HieX ddl 3R 165 WeX d1S! TP SMAAToR drard 81 98 10 $Ud yfd Mex st v @
Tt & 2 WY A T IS T A8 8 | TS T B ARTT 91 D |

1. Rs 15000 / 15000 0

2. Rs 7500 / 7500 T4

3. Rs 6930/ 6930 344

4. Rs 693000 / 693000 T

Correct Answer :-

« Rs 15000/ 15000 30

35) If the perpendicular distance of a point from y-axis is 4 units, then the point has: /
afe y-9ier & T fdg Bt daaa gl 4 g @, A fag @

1.y coordinate 4 / y =1 4

2. x coordinate -4 / x FGRI® -4

3. x coordinate 4 / x FG=I® 4

4. x coordinate 4 or -4 / x SR 4 37T -4

Correct Answer :-

« x coordinate 4 or -4 / x ISR 4 3raT -4

36) If each of (-3,6),(0,3) and (3,0) is a solution of a linear equation

In x and y ,then the equation is: /

Tfe Ud® (-3,6),(0,3) TI (3,0) TH I[P THH0T x Td y A g §, af FHiHRr 8-
1. y=x-3

2. y=x+3

3. x+y=3

4, y+2x=0

Correct Answer :-



37) The area of the triangle whose vertices are P(2,0), Q(5,0) and R(5,2) is: /

I Y 1 & F1d B forget =M P2,0), Q(5,0) T R(5,2) B:
1. 25 units? / 25 BTS2
2. 6 units? / 6 SHTS2

3. 4 units? / 4 SHIS2
4. 3 units? / 3 SHIS2

Correct Answer :-

« 3units? /3 SHIE2

38) Which one of the following points does not lie on the line 2y = 5x-2?/
fFafafea & @ s-dt fag W 2y = sx2 W iR T8 82

1. (0,-1)

2. (-4,-11)

3. (-2,6)

4. (2,4)

Correct Answer :-

39) Which one of the following is not a teaching style? /

Frafafaa & @ F19-0 e Rieor Aeh T8 22
1. Scolding / e

2. Demonstration / LA
3. Inquiry / S
4. Discovery / 3]

Correct Answer :-

« Scolding / TeIeam T

40) Which one of the following statements is false about polynomial? /



Fufiafed 3 & S19-91 $Y= 9gU¢ & A9Y | 3 82

1. According to division algorithm, the dividend polynomial p(x) when divided by divisor g(x), gives quotient q(x)
and remainder r(x) such that p(x) = g(x)q(x) + r(x), where degree of r(x) = degree of g(x). / faHTS oA
& IATIR, HIST dgUe p(x)aﬁaamg(x)@rﬁmiﬁa%mm% @ UITH q(x) T A r(x) 39 YR d1 §
f pe) = g() (x) + r(x), STET r(x) BT T > g(x) PT U1 &1

2. A polynomial with degree 3 can have a maximum of 3 zeros (roots). / YTd 3 & Y TH § guG T 3ffdpad 3
() B qbd B

3. A polynomial with degree 2 can have a maximum of 2 zeros (roots). / YTd 2 &Y T § gua T 3ffddmad 2
RRCOREEEE

4. If the graph of an equation intersects the x-axis at two points, then the equation has 2 zeros (roots). /afe TH

U1 HT U x-318f P &l gl R Hredr g, @ s H 2 I () §d g |

Correct Answer :-

» According to division algorithm, the dividend polynomial p(x) when divided by divisor g(x), gives quotient
q(x) and remainder r(x) such that p(x) = g(x)q(x) + r(x), where degree of r(x) > degree of g(x). / favmem
AR & SIER, YT §gUS p(x)ﬁwmg(x)ﬁﬁwmmm% I URTH S q(x) Td 2 r(x) 39
bR <l 8 b p(x) = g(x) q(x) + r(x), STET r(x) BT U1 2 g(x) I 1A &

41) Abscissa is also known as the .
S (YIP) __ F AW W SIS 31
1. X-axis / X - &

2. Point / ﬁ'g’

3. Ordinate / Pife 3 &

4, Y-axis / Y - A&

Correct Answer :-

o X-axis /X - H&

42) Visualizations and drawing conclusion is achieved through the study of )

Fea IR YT HA s ¥ e & Areny | v fsan S 31
1. Analytical Geometry / IEESLNIRERSIEIR]

2. Spatial geometry / e sarfafd

3. Algebra / CISHILG]

4, Arithmetic / 3RO

Correct Answer :-



 Spatial geometry / T STt

43) The length of the rubber tube is 44 cm. If it’s two ends are joined together, then it forms the circle.
The area of circle is: / IqS T P! GATS 44 A §1 TS 3P <1 BR TP AU W$ AU &< B, 91 a8 g« F41a1
HECEIREL NS

1. 14 cm?/ 14 32
2. 44 cm? / 44 QA2
3. 154 cm? / 154 92
4. 28 cm?/ 28 2
Correct Answer :-

e 154 cm?/ 154 Q2

44) The sum of the digits of a two-digit number is 5. If 9 is subtracted from the number, the digits
interchange their places. Then the unit digit of the number is: /

3 P I & 3P| BTN 5 2| gfe T A T 9 U ST 8, a1 3/ 3y R ufkafdd o ad &, al
TS BT DTS 3P 2

1.2
2.9
3.7

4.6

Correct Answer :-

45) If the perimeter and area of a circle are numerically equal, then the radius of the circle is ./

gfe T g &1 aRfY au1 g rd SeTHES S U A I g, Aiga Pt e gl
1. 3 units / 3 3PT5
2. 1 unit/ 1 375
3. 4 units / 4 SPTY
4. 2 units / 2 IPTg

Correct Answer :-



. 2units/2§$r$:

46) “Let no one enter who is ignorant of mathematics” was stated by ./
«rforg | 3Afuy ®is W afeg A a w1~ GIRT g1 /T UT|

1. Thales / Jg

2. Pythagoras /ngzﬂTnW

3. Enchid / Q:Ilag
4, Plato /@T‘ﬁ

Correct Answer :-

e Plato/ el

47) The abscissa of the point of intersection of less than ogive and more than ogive is .

WW(OQW)@WHWWW@ W%Wﬁgaﬁ‘ﬂﬁ(abscissa)_%l
1. Mode / 9gdih

2. Mean / {1

3. Median / HTf&reRT
4. None of the above / SIRIad & ﬁ'ﬁc :l_sof

Correct Answer :-

o Median / HTEIHT

48) Find the odd one out. /
fawm g

1. <

2. =

3.0

4. #

Correct Answer :-



49) Generalisation of Arithmetic is: /
SHITIO PT ATHRNBT :

1. Algebra I ISIUG]

2. Probability/m

3. Statistics / iR

4. Calculus / Fepad

Correct Answer :-

« Algebra / oo

50) A single linear equation in two variables has: /
& W T AP BRI F1d §:

1. Maximum two solutions / & dH &l g

2. An unique solution / U sfgdaga

3. Infinitely many solutions / 3{<id g

4, More than 2 but less than 4 solutions / Eﬁ T 3fJp AfbT4 FHH Bd

Correct Answer :-
« Infinitely many solutions / 3=d g

51) 'Let no one who is unacquainted with geometry enter here' is connected with ./
I Wt safe ot sfafa & sl g, g wamra sy, S ddftasl

1. The Sophist School / Fifthe Ihdd

2. The Platonic School /WW

3. The First Alexandrian School / Ugcll Gﬁww
4. The lonic School / WW

Correct Answer :-
 The Platonic School /@?ﬁm@_ﬂ

52) Which of the following is considered as undefined term? /

frrafafad 3 3 A safyyita ug 7 T SITaT 82



1. Point/ﬁ@

2. Quadrilateral /ﬂﬂﬂﬁf
3. Circle /9

4. Prime Number / 3{HTST T&AT

Correct Answer :-

. Point/ﬁ_g'

53) The author of Lilavathi was: /

Hdradt & d@® -

1. Brahmagupta / Slgl{ [t
2. Aryabhatta / &rr!f“—rg'

3. Bhaskaracharya / UG
4, Ramanujan / XTHTIST

Correct Answer :-

e Bhaskaracharya / WA

54) CANCELLED

If P(3,-5) and Q(-3,-6) are two points, then abscissa of P-ordinate of Q
is: / af¢ P(3,-5) Td Q(-3,-6) 3! fagl §, df Q & P-Fife &1 Y &:

1.0

2.3

3.-11

4.9

Correct Answer :-

55) CANCELLED

In APQR, £P = 90° and X is the mid- point of PR. The value of QR? — QX? is equal to .
| APQR#A, £P=90° T PR & ALAMEG X 1 QR? — QX? & Il = gl



1. 2PX?
5 3PX?
3. 4PX?
4 PX?

Correct Answer :-

56) 3m6cm="7?/

3dev 6 Ot = 2

1. 3600 cm / 3600 I
2. 360 cm /360 THt

3. 306 cm / 306 THt

4.30.6 cm/30.6 9Ht

Correct Answer :-
« 306 cm /306 JH

57) A man loses one-third of his money, then wins Rs. 10,then loses one-third of what he has, wins
Rs. 20., and finds that he has exactly what he had in the beginning .What was the amount he
originally had ? /

T 3MTGH AT Y-RIRAT BT Th-fagrs gR Sa1 8, fhR 10 TU Siiadr 8, 39P 916 fora=r & 391 va-fagrs
BR WG §, 20 ¥ Sfiqdr 8, 3/ 3P UTH a7 g U-R1RT 8 fora sy o <t 39% ury ga «=afy farait
d?

1.Rs.12/ 12308

2. Rs.24 /24 309

3. Rs.48 / 48 34T

4. Rs.36 /36 30

Correct Answer :-
o Rs.48/48 %04

58) If the angles of a triangle are in the ratio 2: 3: 4, then the difference between the smallest and
the largest angle is. /



afe Y & S0 BT SFUTE 2: 3: 4 8, df TG DI 3R TIQ I8 BV & S BT 3R A B |

60°
1.

400
2.

150
3.

pTjlL
4 20

Correct Answer :-
400

59) If a regular hexagon is having side of 12 cm , then its areais: /

ofe T G Yy @1 Yo 12 9 B, a9 39T &A% 8

1562

256v2

216V3

1293

Correct Answer :-

216V3

60)
Which one of the following expressions is false? /
fFafafaa & ¥ $1-w e Tad 82

a)9999 <1000

b)1052<1025



€)958765>957865
1.Bothaand b/atTdbaHl
2. Only b/%ddb

3. Bothband ¢/bTd ¢ G

4. Onlya/aﬁﬁ'a

Correct Answer :-

« Bothaand b/aTqdbgHl



